Addaicu47 Eonale Play

HSSC CET Group D Oct 22, 2023 Shift 2 Question Paper

1. fy=fafaa 4 f& @ w2 @@eniS i o |, Wil 1o ¥ Jerritories among
= =T £ M [ntlnwing st imon High Court ?
(1) faer st omws () Kb wiid
(2) TS 3T e (2 el
(3) Y™ 3 efeamm () Pun
(4) feeeh si efeaon ] dlil At 1

- n ~ 4] [heat 21t HrdH
(5) I TE T W L

S : 2 Fhoe war bed o W bie J nism 1s known as :
2. wfwa e (fafan gotfran) & dm @ wmam g, | |
(1) 3| (1) At
. l:i (RITHN
- —:‘Ta;mfa_( () Maolecud
) (1 Al
i R (‘) Flaat st hi=tif)et
(5) ST <N AR
a. Wil (i iy is present in the
3. ggHEd T AT B Fel faan wfera 7 nlnoapibio
(1) 78% ()
@) 21% IL
(3) 3% L]
IR (1) il
(5) STl < e (f.,j Hiil st bt

4. frofarEs 4 3 9wa F sifan qe que %11 9 7 4, Whithiiig Hi 4o @ing swas the last Mughal
T o a1

(1) 4WTa4
(2) m ll’ SRR REEE |

(3) wenim | A

[1 "I,I ftezit
(4)  TEF T A “: Ashitiig Shab Zafar
(5) = FE A

oz % o AT 77 _ .
5. HeTATT 1 2rd old7TH #1417 salinity of an ocean ?

(1) 75 wm gfa wan ' Ui i 15 BSE oY |
(2) 20 vm ufa #A7 o i

(3) 35 wm yfa war CoT) b per Hhousand
(4) 25 wm afa w5 (] 4% pii b psf thousand
(5) I AL =1 A (Ml i B
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6. Wmi‘.._-,sfﬂﬂ?:l’l e f'."l”'f'ln”f'.'-G e e s | 6 bbbt 041 Kite Festival’ is celebrated
(1) 14 Fda i1, riuiarat on which day ?
()’ 14 YW;T’" "' | {1 pcember
) ” (| {1 b ehrmary
(3) 14 SFa () Lk daks
(4) 14 fexan [ 1) [ {11 Dhecember
(5) I 2 e () b aitempted
. S s . ‘ lit 1 b Panchavat, what are the elected
7. M 9AEa § fFEifaa wae w8 e e on b s el
(l) 'TI"‘ qa (WT]) (1) Loabd Members (Panch)
(2) TEA (4] HpaHeh
(3) H\fa [ tary
4 i [ FHitheillors
( ) “ ) |‘ SNy ‘l‘;y‘y‘¥1tr\(1
(5) ST AR <A1 A
B o ¢ was the 7th Economic Census
8.  7dl snfeias SEvrE fa A feifor Al 0 ) i dedd
(1) 2021 i 2t21
(2) 2018 )| 2v18
(3) 2022 b
(4) 2019 A oY
(5) IR @ & B 15t Attempted
2y i & o e o | ¥ Whel H4e of the following is India’s Central
o. Tr=Afeifaa & & -7 v = A Afhn v §, T, 1o fv"juf,ion wl’?ich controls the
S g T F1 e =ifa et e 8 IIHHEIE policy of the Indian rupee ?
(1)  war fisd J (RBI1) (. BE-tesBank of India (RBI)
(2) a1 T favum (DFS) 4 .l*" Department of Financial Services
IEGIRE: ] e
39T e W WA TR A U meeyif , et _ ,
(3) B0 ?TTFF',TFLIf’VI’ AU A {4 T"“ nal  Bank for Financing
(NABFID) HttAstructure and Development
" o 'Yty
(4) W 22 dE (SBI) INABFID)
(5) T 1 &hite Bank of India (SBI)
B Mot attempted
10. faefefma & 71 fam a2 @60 ured am wfoin 7 10, Baling {8 phe an
oy 5 Hie iy 8 the ancient name of which one of
(1) @2 =qfzom e state o
(2) dfuerre Gt :H b _.o»ll(\rﬁgha
I ) :' ‘-w-‘.'l n
(3) Tl “ b A.f\rhl
X ! ,.,‘,,X';!!,n
(4) = (0 By
(5) I G 21 wa B Meb w
- empted
TNAVH/E4 T 1 WA 2005 GPACE VO b i = —--

" H”"”,
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11.
sft 1 @ § 2
(1) feama wew
(2) T FER
(3) UEE
@) fee=it
(5) ST o1 =Ted
12. WG Sfawm § Fa frad difas fier €2
(1) ¥4
2) =
(3) @M=
@
(5) SW TRl <N =@wed
13. 'STFG wa aeaciee favH @ 941 M T
(1) THeaE g g
(2) =g
(3) WHTEHEH TTH HEF ATSAl
(4)  TUEEE1 SEE S
(5) T @l < 9wed
14. 5% 5= f=fatEa 4 3 f7m 7w am-ga e ?
(1) =T FeA
(2) @Y
(3) ITEYA
(4) W UE FIET
(5) =A AF 71 Aed
15. #19 w4 9 vimE 9 fawia afaedi & aom i
A AF AT A9 e A1 7
(1) @
(2) =z
(3) AIE
(4) fazgaw
(5) =W AR 2 A
TNAVH /E4
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Which State/Union Territory is known as
‘Crown of India’?

(1) Himachal Pradesh
(2) Jammu & Kashmir
(3) Punjab

(1) Delhi

(5)  Not attempted

How many Fundamental Rights are there in
Indian Constitution ?

(1) Seven

(2)  Nine

(3)  Three

(4) Six

(5) Not attempted

‘National Rural Livelihood Mission’ has been
renamed as :

(1) Deendayal Antyodaya Yojana

(2) Annapurna

(3) Pradhan Mantri Gram Sadak Yojana
(4) Pradhan Mantri Awaas Yojana

(5) Not attempted

Rouf Dance is a famous folk dance form of
which one of the following States ?

(1)  Uttar Pradesh

(2) Andhra Pradesh

(3) Rajasthan

4) Jammu & Kashmir
(5)  Not attempted

Who was the first Mauryan ruler who tried to
take his message to the people through
inscriptions ? \

('I’) Chanakya

(2)  Chandragupta
(3)  Ashoka

(4)  Bindusara

(H) Not attempted
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16. _Iﬁaﬂg il ||3ﬁa’?m?—13ﬁ'ﬁq_nffﬁqm 16. Match structures given in Column-I with

Tl 1 faem Qﬁfﬂql functiong given in Column-II.
EASLD -1 Column-I Column-II
(a) (i) I 3190 (a)  Stomata (i) Absorption of water
(b) STEe™ (i1) ISR S| (b) Xylem (ii) Transpiration
(c WA (i) @maa &1 fEe () Root hairs (iii) Transport of food
(@) TTEE (RE)  (iv) W e d Phloem  (iv) Transport of water
'{«lﬁ famea =t = Fifs | Choose the correct option.
(1) (@)-(1), (b)-(1), (c)-(iii), (d)-(iv) (1) (a)-(i), (b)-(i), (c)-(iii), (d)-(iv)
(2)  (a)-(1), (b)-(11), (c)-(iv), (d)-(iii) 2  (a)-(i), (b)-(i), (c)-(iv), (d)-(iii)
(3)  (a)-(i), (b)-(iii), (c)-(i1), (d)-(iv) 3)  (a)-(i), (b)-(ii), (c)-(ii), (d)-(iv)
(4 (@-G), B)-v), (0)-(), (d)-(ii) 4)  (a)-(id), (b)-(iv), (0)-(i), (d)-(iii
(5) W I < =R (5) Not attempted *
17. N \ﬁ H - e § 2 17. Which of the following is an antibiotic ?
(1) T (1) Streptomycin
(2) SFEHESA (2)  Alcohol
3 #= (3) Yeast
(4) HifeFs aEHEe | (4) Sodium bicarbonate
(5) SR T < =R (5) Not attempted

18. qa’iaaaﬂ‘{aim mWwwwﬁmﬁm 18. Advance sunrise and delaved sunset is
-EH‘:[ froF FRU B B 2 because of the phenomenon of :
: - (1) Atmospheric Refraction of light
(1) T = agasdd qedd

<. Total Internal Reflection
st T @)
@ (3)  Atmospheric Reflection of light

(3) aﬂ. .E . (4)  Scattering of light (Tyndall Effect)
(4) v YA (fEea g9E) (5) Not attempted

(5) SR E & =@ned

19. Select the non-communicable disease from

190. fiofafEa § & F4 H1 Go0a I el € 2 the Toltowinig
(1) Ll (1)  Cholera
2) =1 A (o 1) (2)  Chicken pox
(3) TafeF (499T) (3) Tuberculosis
(4) qg‘riqg (4.1 Diabetes
5) 3?;{ Tﬁ S =T (5) Not attempted
20. Yafr faaa B 27 20. Malaria is caused by :
P ' (1) Virus
:;) Ea’??'; (2)  Fungi
) N (3) Protozoa
3) “ (4) Bacteria
t4) ﬂ”éﬂ‘l = (5)  Not attempted
5) I Al qTed
TNAVH/E4 ~ 1l W feru zare | SPACE FOR ROUGH WORK Page 5
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R 4 fim ¥ 21. Which one of the following does not belong !
: 71 <fa 9 € ‘ e
21. frefafes 3 9 @ the group ?

(1 fem (1) Deer

(2) Ah

(2) Yak

(3) Qg ad (3) Mountain goat

(4) fem ?ﬁeﬂﬂ (= awe) (4)  Snow leopard

(5) SR E oAl 9 (5) Not attempted

22. 1 gen o Frefataa A | fF9 F | T &2

22. The dough of bread rises because of :

(1) T . o (1) Salting

(2) TER (A=) EURCIEIR qﬁ," Ll (2)  Growth of yeast cells
(3) W foar & wrm (3) Fine grinding

4) Tud ~ (4) Kneading

(5) IR TE <A Fed (5) Not attempted

23. ﬁﬂmﬁ@ﬂ?ﬁaﬁ@aﬁﬁm & €2 | 28. Identify the non-biodegradable item from the

(1) A fe= following :
(2) m (1) Tin cans
(3) SATFHIS : (2) Wood
Woollen c es
(‘-1) FTS Ei; Pd(::lrr n cloth
5] ST (5) Not attempted
24. @A™ BIdalt Fitw 98 Ao HiE @l § | R
. 24. Tigeriisa ___ = because it only eat:
() e meat.
@ () Carnivore
@ = (2) Omnivore
() e (3) Cattle
(5) IR el o Hed (4) Herbivore

(5) Not attempted
25. ¥ AM AYW T9H * fou Suge T a g

STV TAH 7] 39 FoR T F o THd 25. Pure gold is not suitable for making jewe]ler z
93] et = ) It is alloyed with or

) i, it ) make it hard for making ornaments. -

) =i, qn (1)  Zinc, Silver

3) refiaf i (2)  Silver, Copper
" 11;1 o (3)  Aluminium, Copper

P . (4) Silver, Aluminium
(5) 397 el <A1 Aeq

(5) Not attempted
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26. fraferfad = T{ﬁﬁqﬁ i 26. Match the following :
I(@% Q) 11 ( ured ) I (Objects) Il (Materials)
(a) 31’?1 : () @ (@)  Shoes (i)  Paper
(b) / (11) M@ (b)  Table (i1) Steel
(¢ draw / (iii) = (©  Notebook (iii) Leather
(d) (iv) <2l (d)  Tumbler (iv)  Wood
e ﬁﬁb’@ 1 FIT FHIfSTT | Choose the correct option.
(1) (a)-(n), (b)-(i11), (c)-(i), (d)-(iv) (1) (a)-(ii), (b)-(iii), (c)-(1), (d)-(iv)
(2) (al-(iii), (b)-(iv), (c)-(i), (d)-(ii) @  (a)-ii), (b)-(v), (c)-(), (d)-(ii)
8) el (D1, dek-(i), (d)-6) @) (@)-), (B)-Gi), ()G, (d)-()
i o, Sl e @ (a)-Gii), (b)-G), (€)-6v), (d)-(i
(5) ST el <A1 9Ed _
' (5) Not attempted
27. ® 3R W \T'FT @W e, forrd ki I £, 27. Sh lants with green and tender stem
frefieten 5 4 i it & A 21 €7 . ha\?i:gpfeeiv };ranchcs belong to the category
(1) 494 of :
2) @R (1) Trees
(3) mgﬁ-ﬂ (?j Shrubs _
@ T (3) . Climbers
(5) I T = = (4) Herbs
(5) Not attempted
28. @ ol firew | TRt 18 vad W TSRl © 1 T
;E;z@-q feard @t &1 g 1 & 9o 4 gaifys | 28. Whena \\'k}ite light passes through a prism, a
FFT TS ? ;};i(éltsrl:nrréslts?observed. Which colour of light
(1) ~ drem (1) Yellow
(2 Arem .o (2). Blue ’
(3) I (3)  Violet A v
(4) - @ (4) Red /
(5) I =l < Awd (5) Not attempted
29 73?{ /e 'g <A ?,m:{ R 29. The blood has __ which fight against
AT s o faeg w@ed/eedl € germs that may enter our body. »
(1) wfeered (1)  Platelets
(2) mzaazrﬁ?mff (2)  Red blood Carpuscles
(3) feamefas (3)  Haemoglobin
(4)  vaq =g FioEM () White blood Carpuscles
(5) 3w & =1 =ed (5)  Not attempted
TNAVH £ 77 5 forg cenl/ SPACE FOR ROUGH WORK - Page 7
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30 ?ﬁ%ﬁmaﬂﬁaﬁm%ﬂmq@ fmat/ | 30. For the process of rusting of Iron, the presence
' 39 of which is required ?
faperen! feraraan Smava® © !
. (1)  Oxygen only
() L 2 (2)  Water and Oxygen both
(2) T S A (3)  Oil only
(@) ¥ (4)  Water only
(4) HEE S (5)  Not attempted
(5) IR <A1 ATed
R .. 31. Kunal walks 90 metres towards East. From
31. FHT1<d 90 TR ﬁ I AR Fdl €l TRl H T there he walks 60 metres back towards West.
60 HIT 9T afyed =i 3 T €| 39F 9% T e Then he turns right and walks 40 metres.
3 ; s How far in which direction is he from his
o Tt %) % A SE faz g far and in whic
qehl 4 acdl ) 73S starting point ?
et S5 o
{(Wmmqi. (1) 40 metres, North-West
(1) 40 HIZ, I- o= (2) 50 metres, North-East
2y S0 HI, m—ga’ \ié (3) 60 metres, East
(3) 60 Hie, "-'Ef (4) 30 metres, North
(4) 30 HiE, IH Ao (5) Not attempted
(5) I eNERA v > Lo |
32. A set of English letters is given b.ﬂ.lm'?' in a
o s . : jumbled order. Select the combination of
32. :ﬁama@%waﬁmmﬁmw numbers so that the letters arranged
¥ HEmsl % 39 HAnE @ 99w e o an accordingly will form a meaningful word.
el ol FaEd FT W U 3ol g &1 | A B =Y 0O C
E L P I 0 c 1 2 3 4 5 6
1 2 B W HEHS (1) 3,5,2,4,6,1 PolL!|CE
(1) 3,5,2,4,6,1 @ 3,52,6/41 PoLCTE
2) 3,52,6,4,1 3) 3,4,5261 PToLCE
) i e @ 215436 LToLP C
(5) 3;1_{;{%.1: ?«’;ﬂ . (5) Not attempted
A 1S o = 33. Find the missing term in the series.
33. SITR LS H A R 0 . 7 .16, 125,36, 2 ,64,729
' 5,36, __2 ,64,
4,27,16,125,36, 2 _ 64,729 e S T a8 (1A
(1) 216 (1) 216 5% 2%, 345 §7 L5
(2) 343 A 343
(3) 512 (3) 512
4 121 @) 121
(5) RS o (5) Not attempted
TNAVH / E4 % 1 & fAv Z2me / SPACE FOR ROUGH WORK Page
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34 o fafead Feim # PHYSICS’ H1 RIAUKEL: | 34 :

‘ -? ?ﬁ ‘BIOLOGY’EﬁT 3Tt N5 * n~;1 certain code language ‘PHYSICS’ i
fer et i BN H R Written g5 RJIAUKEU”. How will BIOLOGY' b
fean ST ¢ Written in that code ? p
(1) DKQNQIA M DKONQIA hysSics
(2) DKQOQJA 9 KQNQY 16 825119 3 10 (A
(3) DKQPQUB o ASAL KEL
() DKQMOIB (4; D'\O;?;IE 1§ 1oL 11 WS 2

f e DKQ -
I el <1 e L \S s
) (5)  Not attempted 2 s
C . PKONMNOTIA
D, E @9l F 3 ol 31X e
35. A, B‘: C‘v o %W@qfﬂ H|35. A B,C,D,EandF are standing in a row facing
aeE, Wm@?%eﬁmum ‘B’ 3R North not necessarily in the same order. ‘E’
F 7 FEAR A M B F M wE ‘A’ and F’ are in the centre, and ‘A’and B’ are at
R 5 i T2 S| B S T 3T 2 e S the ends. ‘C’is standxr_lg on the immediate
B;T??Eﬂ; 24 aTe <= ARFH T 2?2 left of ‘A>. Who is standing on the immediate
( right of B'? 8 A
@ C B D EF CB
2) C R D FE cCcA
O (3) E h— g
(5) SR <A Hed )
4 F
Y N s 5) Not attempted
36, %A iR 3T A 2 v 1 3w 1 fenm # | fem (5} Notattemp
™ :ﬁm Eg?"%a o Eﬂaauﬁq 36. Two statements are given, followed by two
fim € =@ 7 vdia 2d @, o o F e Hqi/4 conclusions I and II. Assuming the
ﬁ'@ﬂﬁ"{mm% INYR 9L deh97d =9 9 e statements to be true even if they seem to be
S e © at variance from the commonly known facts,
%/ 2 . Y decide which of the conclusions logically
Y EEATRGIERS a“i, follows/follow from the given statements ?
EERSIERSIRS . ’ Statements : ~ Some flowers are roses.
e : L qoft URIER & 1 Some roses are red.
I 9 T £ Conclusions: L All roses are flowers.
(1) WWIIW%I : — : II: Some flowers are red.
2 S . Ha__ﬁﬁma%l (1) nly conc us%on II follows.
i forerd 1 iR 7 @ 11 Fwerl € (2) Both conclusions I and II follow.
) TTHT I3 . (3) Neither conclusion I nor II follows.
(@)  Fae freed 1 fawad & | (4)  Only conclusion I follows.
(5) W I <1 =med (5) Not attempted
37. faum %1 =m Fifew) 37. Find the odd one out.
(1)  wHem (1) Pen
2 = (2) Eraser
B) g== (3) Book
. . (5)  Not attempted
) I FE T =3
m e e e SPACE FOR ROUGH WORK Page 9
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. o 0. R, S’ AT P | 38. P,Q R, ‘S’and T are five persons of a famj),
38. U uftaw ¥ yiw g '.Q A/ R S ‘P’ and ‘R”are brothers. ‘T"is uncle of ‘(. «
st R wE-wE &1 T, Q T_ﬂ ) " . 'v o is the son of T". ‘Q’is the sister of ‘R’. How ;.
&l YA '?l Q, R &I qe el TS RRER REAL P related to ‘S’ ? )
Hafva & 2 (1)  Father
(1) faa [2r  Cousin
(2) /TR MR (3)  Uncle
(3) =T=/EmE (4)  Brother
rds ) i (50 Not attempted
(5) ST TE T Ted
R 39. If every second, fourth Saturdays and aj
30, =t e @ wRy o 9 f&4 30 f7 & wdlm 4 Sundays are holidays in a 30 days mont}
TrE T, 919 wifgar qon 9sft 9ar & sraww | beginning on Sunday, then how man;
s Sl ) “ 7 i i c ?
3 55 T ey g §2 working days are there in that month
1 21 days
(1) 21w . E2) e v
ays
2) 24fs - (3: Y Y
ays
3) 22f=
) ‘jﬂ']’ 23 days
(4) 23f=
. R (5)  Not attempted
(5) T e <N 9ed
— . = i 40. Choose the pair of words in which t} rords
40. TR I=-T7E F1 999 F 99y YFR Gaft p ch the words
P fa‘Vf?n - ‘“W?{H'T Hd are related in the same way as in the given
SR IE R AR-H Y B | pair of words.
Hfaarfea : wfaarfea ’ Bachelor : Spinster
(1) == 9rE #]  Horse : Mare
(2) HzatEA ; a8 (2) Nun : Sister
(3) =9-Torer : foree (3)  Tutor : Teacher
(4) Hfeen ; #img (4)  Lady: Woman
(5) =A% A 7 A (5)  Not attempted
9 7 UF, QA = P - .
41. 1% 3 3;-"\ 24,700 W @iz 3w zoad | 41, Harish bought an old Scooter for % 4,700 and
[qHA 'P“?.}?()(') a1 fgu) oz gz oy Tt spent 3 800 on its repairs. 1If he sells the
? 5,600 8 99 9 304 A1y yfdquma & . . Scooter for? 5,800, his gain percent is -
oo \ P
c5, oo 5.,
(]) ‘)] : o) S& p"r 5’]] /0
r ) o
2)  10% l’/\\' 2)  10%
(3) 12% c. (3)  12%
a4ty S \
() 7 g (4) A %
(5) I AR a1 A §
(5)  Notattempted
j————y E4tH R T
TNAVH/E4 W1 & fe10 2errer / SPACE FOR ROUGH WORK Page
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42- . ) ‘ | ) . )
. ' S 111l I [ the tatioof the number of boys to
i il o ‘:' ““H\(\ - “.” FROT e g o M . [ plsas 4050 When 100 girls
praCERIGRCIVAUREIGIR RS R R D RTE TR | /) (ool the ratio becomes 6 ¢ 7. How
(1) 150Q M | (here in the school ?
(2) 1200 (o " <
(3) 1000 (4 A L A ) > — leo
- — ’_O
(4) 1800 ETRRITT . [ so
(5) ST & W TR Lae,
'c'l- -
k2] pef m]vl(‘(l :
43. T 3TFa W EARA 460 7 W, B A g fard
sHanl Ylii::lﬁ H 15% Qﬂ'rqj \‘_ 4l ‘-“-l || I.| NIHE! "vl a9 i i of a rec l~|||[',l(f is 460 sq.m. If the
SER IR E €2 [t 1 9%e more than the breadth, then
. - il {{ «iong the following is the breadth of
(l) . 26 'II.‘ | 11 "‘u‘ ?
(2) 34.5HR O 46 metres
(3} QO'q’m "‘ afew meilres
(4) 157 () 4 petres
(5) I el A AW hl) 17 s
) f{a) atfempted
44, Tz oaaq varmnzm 15 fa I ekl § 1 4 . | .
fo 50 el 1 1 6 4 20 0 oo | A I AR A8 # Job 'l?islSscffyf?;ﬁ::::ﬁihf;
s a .~ b ~ % 1. cabd 0 A'\CJ <
72138 25 1 | gan w2 wwan € i foee an ibiessow long will they take to complete
71 A4, T FA TI'}WW 1 fepern e ofi) i 18 |,.,|.' {| ey all work tegether ?
1) wefa 0F s g deys
(2) =9 6.4 faq JAE i ey odayy
3) 7fm= 21— D
foq 7 (1 e phan 6 days
4 ( _Q 4,
{ ’ ) ?qnm “:| |" alle Ill}’l\‘\l
(5) = @ Zm e
oK 3
" b , al, Lo B VIOBO = x% + 141, then the
B ™M 145607 4+ Jiowg = xP 4 141 B DA i al i 3> .
Lk =51\
oo MR e S A I\
M 545 ” TR
(2) 25 ",
B) 5 W ) (( = :_\(‘),\ I\
(4) ]25 '” ’ "™ . \ \\ \
ro o . 1" NI u\llf\:! )
O) 3w 79 21w | -S 2t \
DAC D O e R - — Page 11
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46. I#4,0,3, 78 T @t 4-37h TH-9 @@ 7 | 46. The greatest 4-digit and FIIIC smallest 4-di,
TA-R- TEmd FA: © (TOIE o Us W Gl numbers fm'nluf(l by the digits 4 .1(), ]’, 7 (enn 80.
SN ’ i1 se e 2) are respectively :
e ) digit used only once) ar I y
(1) 3740,3047 (1) 3740, 3047
(2) 7403, 3704 (2) 7403,3704
(3) 7430, 3047 (3.) 7430, 3047
(4) 4370, 4307 (4) 4370, 4307
(5) SW Tl <A 9% (5) Not attempted
o N o X S & 1 he rat
47. Wﬂﬂmﬂi‘ﬁmaﬁma A 47. The speeds of three cars are in t a
S - 203 ',,4,:@ W@{ﬁ?ﬂ? 2 :3:4. The ratio between the time taken;
F1 1, T FRi g1 o T guEi | STIUTT B0 these cars to cover the same distance is
2 4: 12! f!
(@ 4:3:6 @) 4:3:6 |
B) 6:4:3 6 4 2 51.
;3) 6:4:3
4 2:3:4 @) '2'3_4
- E_,.J. :~— : ~
©] AL (5) Not attempted
48. Uf?a:@ ata 10 Fai § STATE STt €, T HERO S | 48, Ifa sum becomes its double in 10 years, the
B AN T : the annual rate of simple interest is
(1) 5% (1) S% Xlod ¥
, ; lpg —— Loe
(2)  10% L1 10%
(3) 20% (3) 20%
@ 8% (4 8%
(5) I < e (5)  Not attempted
52
49. 50 HNA F1 AU 38 %1 Az A wensii a5 qen | ¥9- The average of 50 numbers is 35 | ¢
55 F1 72) f2q1 =T @1 9 T Tensi 5 s m'llmbers 45 and 55 are excluded, mcn A\_\l
- will be the average of the remmain]
o numbers ? emain!
(1) 37 ’ 1) 37
2 |
SR 421 375
(3) 37.52 (3) 37.52
(4) 36.5 (1) 36.5
(5) I Tel < e (5 Not attempted
TNAVH/E4 2 w1l a fere 22imer / SPACE FOR ROUGH WORK TNV
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50 A 3 763,000 T HT TH SR 3T fem F0 |(50.) A started o pusiness with 63,000 and is
g’l:mvm: 1,08,000 T &L B A TR ﬁ“”ﬂillﬂ Joined afterwards by 3 with T1,08,000. After

how many months did B join if the profits at

e afe ad & ofd W e SUE-"qua §1 8, @ the end of (he year are divided equally

fopd TTE & @] B 3 WA H 2

(1) 4 63 ©09 \o?‘:f’,i
m A |08 920 &%y

2 5 0 (\&‘—\,//
2) S @ —’T'T/\/""* 3)‘ w229

o ”

3 6 3 6 ¢o™ upe
o ¥ e
4 3 4 3
(5) ST el < =ed (5)  Notattem pted

51 GIEREIRE geT3l 1 L.C.M. 120 %I =1 e 51. The L.C.M. of three different numbers is 120.
JEEEE ks i : - i following cannot be their
§ {31 91 987 31 dH @i &1 H.C.F. &l &l Which of the fo g

T H.C.F.?
;1) 5 (1) 12
of e @ 24
@) - 35 T
@ 8 -

(5) S TEl <A1 9wd (5) Not attempted

) i 5 o ufg .. et | 52- In what ratio, rice at ¥ 28.80 per kg and rice
52. ¥ 28.80 Wfd .11, AT 3R < 22.80 at ¥ 22.80 per kg be mixed to get a mixture

EechciCorich: A ciei aifer fago &1 e worth ¥ 25.20 per kg ?
% 25.20 wfa fa.mn. 210 ?

W 2:3 1§ 8° 1 5-%o
(1) 2:3 N /
(2) 3:4 1% 20
(2) 3:4 /™
3 9:3 . R
(3 5:3 ) - bo 3¢ bo
@) 1:3

4 1:3

(5) Not attempted

(5) =W AEl 21 AEa
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_bIHS50%. Ma: b 63. If 10% of (a+b)=50% of (a—Db), thena: bis.
53. ‘afa, (ﬂ+h) | ]oﬂn —’(ﬂ h) (W . ho:
5:2 Ab AP = a-brw
(1) 5:2 MoS a4 b ﬁ, \ %Q
@ 2:3 (2) 2:3
, atb —atb= 5
3) 3:2 3) 3:2 2 bog
(4 1:2 (4 1:2 b- £
‘Y .2
P . L IR
(5) SWTE e (5) Not attempted -
54. 38,000 F TR 10% o 54. In how many years will a sum of ¥ 8,000 at
=192 0,261 B T, Fafsh =11 9fd BHE Fahfera 10% per annum compound interest,
S e? compounded semi-annually become ¥ 9,261 ?
1
(1) 15 Y (1) 15 years
—————-"'6"‘- a—
1 1 Qv Lk
(2) 25 ad 2) 27 years 7 ‘ ‘
’ =
1 “w)
@ 23 EL 3) 7l years )/.1 )
2 ) L
Yy |
@ 1l 1 g8
j —
(4) 3 Years /T’ng
(5) =9 @ < = —
(5) Not attempted
55.  AME 370 3 AL a9 S 5 A, Tt 41 % T
55. A solid metallic cylinder of base radius 3 em
2 T4 F) fogersr AT T 5 oy -
W b kil and height 5 cm is melted to form cones. each
A 1 A, aq amn o 1 fo o, 21 29 YR of height 1 cm and base radius 1 mm. The
a7 VT'«F«H FIHAE - number of such cones is :
(1) 1350 (1) 1350
(2) 4500 (2) 4500
i (3) 13500 @k 13500
(4) 450
(4) 450
(5) S AE 2w
(5 Not attempted
TNAVH/E4 ¥ 12 @ fe10 Terrer / SPACE FOR ROUGH WORK Page 14
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Select the alternative which best describeg

56 the underlined idiomatic expression. - Pick out the correctly spelt word.,
You may rush from pillar to post, but you ) tempestuous
stand no chance of getting what youy ;\-am (2) e .
without hard work. Mmpastuous
. . (3)
(1) rush in all directions and suffer much tempestus
harassment @) tampestuous
(2)  gotoall post boxes and post offices (5)  Not attempted
@ 8o to many offices and post letters
[ bevery B 60. Pick out the antonym of the underlined word
(5) Not attempted In the following sentence.
He was afraid of losing the match.
57. Choose the correct alternative to improve the (1) nervous
underlined part of the following sentence. If
no improvement is required, your answer is (2)  shaken
(3).

(3) confident
You will face many defeats in life but never

let themselves be defeated . (4)  hesitant

(5) Not attempted
(1) yourself be defeated

(2) yourself be defeating
61. Pick out the part of the sentence which has

(3) No improvement an error. If there is no error, your answer is
3).
(4) themself defeated
(S)  Not attempted The property / was divided /
(A) (B)
S8. Fill in the blank with correct form of Verb. araong the (g hrotings,
(C)
Time and tide for none.
(1) (B
(1,1 waited
(2 (©)
(2)  waits

(3) No error
(3) waiting
@ (@A)
4)  wait
(5) Not attempted
) Not attempted

k |
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62. Choose the ﬂlmmatfi‘.‘,“f;f‘—»- : :...L..:-.
the given sentenc® =~
He told the boy not 10 S 777
(1) He said to the boy, “Dont st thers
(2) He said to the bo¥. Dot su thes
(3)  He said to the boy, "Dom T &% heme ”
(4) He said to the boy, “DiZo™ =1 here
(5) Not attempted
63. Choose the correct passive voioe fors &
following sentence.
He was writing a book.
(1) A'book was being wrr=— OF Ine.
(2)  He has written = book
(3) A book was being wrimen & =im.
}4) A book is written bv b
(5)  Notattempted
TNAVH/E4 g o ——
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Google Play

Kearrange the following parts of a SeNten,,
iabelled as PQRS to make a meaninpy,

sentence.
optimism is csscnti:}]
O - it is also the

R - foundation of true progress

S - to achievement and
(1)~ PQRS
{2)  PSQR

{31&. RQSP

{4) QSRP

o

Not attempted

%8S.  Find out the synonym of ‘proclaim’.

(1) advance

(2) declare

{3) license

(4)  progress

{5)  Not attempted
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mm%ﬁﬁ&ﬁﬁﬂzmﬁ?)

&) R Tl S T o it 7 7' e
o () f oz =t
5 T () w5
@ ¥ - i
5 R el &1 9 H  SAfirro w1
. ‘ (5) 3w = & =
. mmﬁmﬁﬁm-ﬁwmuﬁmﬁ
t? . 72. ' g A 3 e EAE S v T
(1) gﬁf@l‘a‘@.' (1) *m
@ TR (2 amm
S @) fam
@) uﬁ?&ﬂ (4) fva
(5) IW &l <A1 =ed

(5) = @l o Aed

‘gfect: | o TEE TR T R " .
e 73. ‘%7’ yerg | FA1 AT FANE IH T T -

(1) = i
e (1) =
- 2) =fm™
e 3) T
(@4 = b
(5) ST TR oA =R (@) T

(5) oW T &1 Ared

60. 'S F ST SnTel 31 Wig w1 fag! | AR H ' .
74, ‘Ica@ W= I HANEF S99 TAAAHE] T T

Tt U 319 € \ :
(1) ﬁaﬁmgvﬁaﬁammﬁw%,mgm (1) =
SR (2) W

Q) e ST A S E S g A S @)

@) dnf dnt € g A fag T E weed @) ‘

(4) ST 37T ST & @TE B e Bl e € | (5) SR TEI & =med

5 3 a-lg% -~ -~ e

6 s s, fauTqarH F foeg faweq | famm @l =1 =77
0. ‘foyerer it wecE A @ T il I A G T 2

Wmmmwfwmﬁuwg (1) TFAFATEE!

(1) wen3d () gﬂ‘l,ﬁﬁﬁﬁr{ﬁ&nﬁ?ﬂmn

b (3) 1 3TE WY 37 Fel Ael S 2

(B) Te+siewE (4) FH WS @

@ eI (5) I A & =

(5) s = GH WORK Page 17
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76.
(1) 3N
(2) T
(3) Teaw
(4) )
(5) 3wt AL o Awd
77.  wfemn e § faa! (F) I Y
(1) 5500 - 6000
(2) 6000 - 6500
(3) 6500 F fF
4) 5000 - 5500
(5) SR ¢ =med
78. i@ § fag ad ' Say =@ Im w5g e
IF FI T 9172
(1) 2017-18 ,
(2) 2011-12
(3) 2019-20
(4) 2015-16
(5) IR & AR
79. T8 W W fauad aiess Sy fom £ 7
(1) Tum
(2) FEE
(3) T
(4) @
(5) W TEl o =
80. T H TE W T RE AN 2RE § wEe
fafasfis &in o1 deem W ae 35 52
(1) B0 9t 99 faea
(2) < wifEa SAfvEr
(3)°  YYH T FHE gre
(4) 9fd g2 a1l waa
(5) I FE < =R
81. #ﬁmmﬁﬁmﬁaﬁznwﬁﬁhmaaﬁ?
(1) 10
2 11
(3) 12
4 9
(5) I T <1 =
TNAVH /E4

76.

77.

78.

79.

80.

81.

GET IT ON
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In which district of Harvana is Tilvar |
located ?

(1) Ambala

(2) Panipat

(3) Rohtak

(4) Kaithal

(5) Not attempted

How many (approximately) Village Panchavats
does Haryana State have ?

(1) 5500 -6000

(2) 6000 -6500

(3) more than 6500
(4) 5000 - 5500

(5) Not attempted

In which year was “Deenbandhu Harvana
Gram Uday Yojana” launched in Harvana ?

(1) 2017-18
(2) 2011-12
(3) 2019-20
(4) 2015-16
(5)  Not attempted

Where is the Heritage Transport Museum
situated ?

41)  Gurugram

(2)  Kurukshetra
(3) Karnal

(4) Rewari

(3) ' Notattempted

Which scheme launched recentlyv focusses on

crop diversification-and water conserv

ation 1n
Harvana ?

(1)  Mera Pani Meri Virasat

(2)  Jal Shakti Abhivan

(3) Pradhan Mantri Samman Yojana
(4  Per Drop More Crop

(5)  Not attempted

How many Lok Sabha constituencies are there
in Harvana ?

¢4) 10

(2) 11

(3) 12

4 o9

(5)  Not attempted
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,maltﬂa?ﬁﬁ frerd § 2
2 8
(1) TI{T‘TTW 4. Where is Chor Gumbad situated ?
) L HEI () Gurugram
2 9 .
3 3 (’;) Faridabad
- B Narnau
(4) ! . (1) Palwal
(5] 3¢ el .l "“'Q%‘ (5) Not :n(rmplml
3 ‘=h o T i . . 83. Where ig the most important Centre of
53' %wa‘” U SERS RS >(t1‘]7”l?‘mm ‘durrie’ . ~ate i he State
£ Irrie’ making located in the State of
frerd © ¢ “ Harvana ?
(1) I J1)  Panipat
2) fa@ (2)  Sirsa
a) fyari (3)  Bhiwani
- ~ 4 1
@) (4)  Sonipat

5 SW Tl <91 9ed (5) Not attempted
(

84. Correctly match the Administrative Divisions

84. g\?ﬁ - 1 ¥ fou U yematis gami e - 1§ in the List - I with the Districts included in
HWW%W”WWI © the List - II.
< List - I List - II
“5"" -1 et - 11 (a)  Faridabad, (i)  Panipat
(a) TIRER (i) OH (B) Gurugram. (i) Charkhi Dadri
(b) TEIH (i) =& gl (c) Rohtak — “-  _(iii) Mahendragarh
(c) BRGED (iii) -q%g-qg (d Karnal - ‘\fi\') Nuh

Selectsthe. correctranswer using the code

(@ A (iv) & given below :

4 feu TT Fre 1 IH G T HE IR I : (1) @G, (b)-v), (0)-(i), (d)-(ii)
(1) (a)-(iii), (b)-(iv), (c)-(), (d)-(ii) @) (a)=(iv); (b)-(ii), (c)-(id), (d)-(1)
2) (a)-(iv), (b)-(ii), (c)-(i), (d)-() 3)  (a)-(iii), (b)-(iv), (c)-(ii), (cj-(1)
B)  (a)-(iii), (b)-(iv), (c)-(i), (d)-(i) @) (a)-(iv), (b)-(iii), (c)-(i), (c)-(ii)
@) (a)-(iv), (b)-(iii), (c)-(), (d)-(i) (5) Not attempted

(5) SR o =

85. The reorganisation of Punjab that established

85. v . ey R 9 &+ & T Haryana as a full-fledged State, took place in

'%'ﬂf( 13 T, 5 T which year ?

iy fepan, fohm o g1 ¢ (1) 1962

g: 1962 (2) 1965

1965
(3 1966
ti’) 1966 4) 1961
5 1961 X (5) Not attempted
) TEAE <A A
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86. TR F wfq ad et . e &8l 7 | 86. Where in Haryana ‘Geeta Jayanti Mahotsa
EiGEY is celebrated every year ?
1) Surajkund
(1)  FwFTs (
(2) fosir (2) Pinjore
(3) Sultanpur
(3) HeaEg
4) FEA ()  Kurukshetra
(5) WA o =ed (5) Not attempted
87. frd gfaon &1 YdiR 3 TN F gy % | 87.  Who is known as the Shakespeare of Harvana
FYH S A€ 2 and Suryakavi of Haryana ?
(1) vfed @M (1) Pt. Mangeram
(2) ST (2) Banshilal
(3) TWfEg A (3) Ramsingh Nai
(4) T EE (4. Dada Lakhmi Chand
(5) I A <A =wd (5) Not attempted
88. TN & T Yef FNE? 88. Which is the State Bird of Haryana ?
(1) &7 (9 rfae) (1)  Great Hornbill
(2) YRdE F=TE (2) Indian Bustard
(3) femmerdt Ara (3) Himalavan Monal
(4)  vam Faifem (3) Black Francolin
(5) I Tl <1 9ed (5) Not attempted
89, U T Yok, WAl il 3R T g4 iwedl | 89, Where is the National Academy of Custorn,
el e €2 Indirect Taxes and Narcotics located ?
(1) Teas (I) Rohtak
2) femw (2)  Hissar
(3) @R (3) Faridabad
(4) dEFa (4) Panchkula
(5) I T oA =@ (5) Notattempted
90. TN F1 FAfHF T AT el B 2 90. Which is the most populous city of Haryana ?
(1) TEH (1) Gurugram
(2) HIRER (2) Faridabad
[ (3) Panchkula
3) 9EFcl
(4)) NERED (4) Rohtak
( 3T @l <A1 =Ted (5) Not attempted
(5)
TNAVH/ E4 3% o 3 fere et/ SPACE FOR ROUGH WORK —
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91. Tﬂ?ﬂ LRIl et sfom F1 ATt Henl F | 91, Matg Mansa Devi temple is home to which
HIAY @EI© 7 form of contemporary art of Harvana ?
(1) @il el B Worli Art
(2 fufa fo (2)  Bhiti Chitra
0) - (3)  Dhokra
: (4)  Pattachitra
(4) < 5 (5)  Not attempted
(5) I
92. frefafad Fori T faam Ffa 92. (Consider the following statements h
' i qferd i LTI, .o a) A Police Range in Haryana is headed by
(a) BN l\ A N i W bk :;‘ﬁ,_ . éTCR an officer not below the rank of
e | A TG F AR T 2 2 Additional Director General.
(b) gﬁ‘qwnﬁﬁamﬁ?l () There are five Police Ranges in
Syt § 8 FE F1/H T T 2/ Haryana.
(])u ';Fﬁ'ﬁ(b) Which of the above statement/s is/are
. a8 correct ?
(2) () S (b) T (1) (b)only
(3) A (a) IAF (b) (2) Both (a) and (b)
(4) Had (a) (3) Neither (a) nor (b)
(5) W TRl <1 =ed (4) (a) only
. N o {5) Not attempted
93. wHEEA i gfte | TAWN F v H FH-T1 H
€7 93. In terms of population size, Haryana comes
(1) 17 at what rank in India ?
(2) 18 y 17
(3) 19 (2) 18
4) 16 (3)-19
(5) I & = () 16
04. fy=fafad § ¥ ef@mon & FHET foen U9 F (3 Notattempted
i -
e i W T 94. Whichoneof the followingdistricts of Haryana
(1) does not share border with Rajasthan ?
() o (4 Rohtak
(3) I[%’-ETIE (2) Bhiwani
@) faw (3) Mahendragarh
(5) I e o =ed (4) Sirsa
o - (5) Not attempted
95. @ eI 3 T T 3 $i% T oA fife & e el
T Fel U fFar 3R 1857 % 37 & 99 98 | 95. Where did Rao Tularam, along with Rao Gopal
a2 Dev and Rao Dhan Singh organise the Ahirs
' and fought.against the British in 1857 ?
) S (1) Ambala
() ¥R (2)  Jhaijar
@) T (3) Rohtak
(4) TEER fFen ‘;}) Nasibpur fort
(5) S| AE <1 =R (5) Not attempted {
TNAVH/E4 <% @7 3 fero TaTe / SPACE FOR ROUGH WORK Page 21
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06. ol T Wig] 3R (-‘-’ﬁmﬂ) ?\FFJf{fQ f=fafiga | 96 Consider the following s statements about Grogg

ySDP) :
mtﬂﬁﬂ]’{ﬁ State I)()lll(‘)‘Jl( Product (G ‘W:)l A
of Haryana is less than that qf
o g g | e
ﬁlmvn Suas b GSDP of Haryana is less than that qof
(®) ! RIS G s Fﬂm‘ﬁ‘ﬁ A N Rajasthan. .
FA T Which of the above statement/s is/are
frfefae § @ -/ TR R/ correct ?
(1) Fad () (1) (b)only
2 () 3R (O) W (2)  Both (a) and (b) l
3 = @ (a) ARAE (b) (3)  Neither (a) nor ( )
) (4)  (a)only
) o () ' (5) Not attempted

(5) ST o = _ ,
o7, s & T T T AT A 9 F v 37 | 7 The only surviving steam Loco She in fndia

is in :
(1) PRk (1) Ambala
(2) SHEE (2)  Sonipat
3) @& (3) Rewari
(4) SHId (4) Panipat
(5) SR NI _ _ (5) Not attempted
98. ﬁqﬁfﬁﬁﬁﬁmwmmwwﬁ 98. Which one of the following is the
feme? northernmost district of Haryana ?
(1) d=Fen (1) Panchkula
2 (2) Kurukshetra
(2) T3 (3] Kaithal
(3) m : (4) Yamunanagar
(4) THIEAR . (5) Not attempted
(5) T el < = ed
00, FreofEs Fudi T R ST - 99. f)ac;nsul'l{e; the fotlllowmg stat'ements“. |
. ryana has never won Ranji Trophy.
(a) iAo 3 TOMS R et A St (b) Haryana has won Irani Trophy once.
(b) EfEN 3 vEwER SO 2R S .~ Which of the above statement/s is/are
T H B FE AR e @ 2 correct ?
) 5 Bon (and i
. oth (a) an
() (a) T (b) 2 3 (3) . Neither (a) nor (b)
(3) _:THT (a) A A (b) " (4) (a)only
(4) &9 (a) (5) Not attempted

(5) = A 21 =

. e mam ee .. | 100. Who among the following plavers fr Harvans
. framm & faefafag mﬁm o 1 ng g players from Haryana
100 a4 2020 won Major Dhyan Chand Khel Ratna Award

w*mwmmwmvm 2020 ?

(1) faw %z t1)  Vinesh Phogat

(2) 7 wfE"w (2)  Deepa Malik

(3) WA Fun (3)  Sushil Kumar

(4) f,}-ﬁ?‘ f'TW ' (4)  Vijender Singh

(5) W " u—— (5)  Not altempted
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